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GENERAL INSTRUCIYONS TO THE EXAMINEES :
W
@Q

(1 ftameff S 9 WYH -3 T A Hharda: R |

Candidate must write first his / her Roll No. on the question paper compulsorily

(2) vt e @ e €

Al the questions are compulsory.
(3) SR Y 1 IE 7 I A € ford |

Write the answer to each question in the given answer-book only.
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(4) Pamye i st 578 &, T 00 & IO 0w o |

For questions naving more than one part, the answers to those parts are to be written

together in continuity.

(5) .07 % T @ il ware # fwelt wew 1 3/ v/ Rmima €7 @ i s &
e T A |

If there is any error = difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid.

(6) WY &1 I For@ & T T 1 FHTR 3Ew g |

Write down the serial number of the question before attempting it.
(7) W I 16 ® 22 7 o T fasheg & |

There are internal choices in Question Nos. 16 to 22.

(8) 3w T-gfe & 981 % 2 o PRy | R o e S B, 9 Im-g &
fm gl s R Rt T A e A e ER e d |
Write on both sides of the pa&s of your answer-book. If any rough work is to be

done, do it on last pages é@m answer-book and cross with slant lines and write

*Rough Work’ on them§’
»
N

S
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SECTION - A

MW :
Multiple Choice Questions :

L et e sl & s wft fares o o TR - v 3 frfae

Choose the correct option to answer the following objective questions and write in the

answer sheet -

(i) o TR 1 TETH FATEdS 27 AU I gww FAa (62 @ | AR

s 548, 7 gt wEn d
(3) 81 ® 27
@) 54 CAPE

The Highest Common Fa{@?of two-numbers 1s 27 and their Least Common
Multiple is 162. If ogg\@umber is 54, then the other number s :
Q

\§
@QQ (B) 27
(C) 54 (D) 18 ]

(A) 8l

(i) WGP -u-BHhYEwE:
(F) 2,4 @ 2,5
@) -2.4 @ -2,6

The zeroes of the polynomial x2 - 2x - 8 are :

(A) 2.4 (B) 2.5
(C) "2i 4 (D) "2, 6 l
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(i) ﬁﬁm.ﬁwgﬁmy%Tﬁﬁsmi,ﬁﬁﬂﬁﬁﬂ?m

i Gé R 7
(31) v=Ty+> (|@) Sx=7y+2
@ Tx=2y-3 @ 2=Ty-5

If twice the first number x is § less than 7 times the second number y, then

which of the following equations is correct ”
(A) x=Ty+5 (B) 5x=7y+2
(C) 7x=2y-5§ (D) &x=Ty-5

(iv) afe qar= A &1 wom vz 2 3t @ 3R 3 @1, @ ndl 9g ' -
(A) In+2 (@) 3n-1

@) 2n-1 (@ 3n-2.

If the first term of an anthmet@progressmn is 2 and the common difference is

3, then the n™ term w:l%@

(A) 3n+2 Q\@’ (B) 3n-1
@$

(C) 2n-1 (D) 3n-2

(v) 3% o uie Ui o a8 -
(31) 42 @) 39

@ 45 © 33

The sum of the first five multiples of 3 is ;

(A) 42 (B) 39
(C) 45 (D) 33
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§
(vi) afe feft fings PR # PQ? + QR = PR2 7Y,y a1 1 i eIl &1 7

() £p ® 20

(H) LR @) YT

If PQ- + QR- = PR in triangle PQR, then which angle will be a right angle ”
(A) £P (B) £Q

() 4R (D) None of these

(Vi) ﬁ?&({l. 3) &Y x-3y ﬁi’@ ‘&'\Fﬁ :

(A) 3 (€) 0O

() 2 (3 |

Thedistance of point (0. 3) from x-axis will be.:

(A) 3 (B) ©
"~
(©) 2 > D) | I
\Q‘G
QQ
(viii) 2 sin 45° cos 45‘(&“ Lick

(#) 2 @) 0

H -_—

() 5 @ |1

The value of 2 sin 45" cos 45" is ;

(A) 2 (B) 0

(€) (D) |

2
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(ix) TR fareh g 1 o) Teah) =i A %wﬁ,a’rq&mmﬁwt:

(3) 90° (W) 60°

(|) 45° @ 30°

. . :
If the shadow of a tree is —w times its height, then angle of elevation of the
B §

sun 1s ;
(A) 90° (B) 60°
(C) 45° (D) 30°

(x) Torelt g1 & e & ot o oftelt i et - Ymd e A R

() = (W) |AT=N
(®) wfe=d @) -Bew
The tangents drawn at thbﬁ%s of any diameter of a circle are mutually :
(A) pf:rpendlr:ula:\Q‘z’~ (B) parallel
mtersecn@ (D) secant

(xi) afe v g FIRRY 176 F 8, 7 3w At

(3 21 &t W 149

@ 28w (@) 7%d

If the circumference of a circle is 176 cm, then its radius is :
(A) 2l cm (B) l4cm

(C) 28cm (D) 7cm
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(xii) AR @ T 1 3 36m T ER Y, B v R R

(3 3ah (W) 6@t

@ 2% ® suf

I the volume of a sphere is 36% cm?, then its radius is :

(A) 3cm (B) 6cm

(C) 2cm (D) 5cm :

(xiii) 5e® 11 9ot w3t w1 wreg g

(¥) 4 (®) 5
| 5.5 @ 6
The mean of first 11 whole numbers will be :
(A) 4 (B) 5
(C) 55 © (D) 6 1

(Xiv) W27 3,3,5.3,4.2.8.4, 3.4, ) F 95eF 2.

(3 7 \Q&Q ®) 3
g\
(W) 4 N @ 3
¥ -
The mode of@ibuﬂon 3,3,5,3,4,2,8,4,3,43is:
$
(A) 7 (B) 3
(C) 4 (D) 5 1

(xv) TR P(E) = 0,05}, & ‘E T&' & wiitepan gvft :

(3) 0.90 ‘ @ 0.59

(| 0350 @ 0.95

If P(E) = 0.05, then the probability of ‘Not E’ will be :

(A) 090 (B) 0.59

(€) 050 (D) 0.95 1
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) Frwrferfign o 8 frae w1 A S €0 3H- Y 4 feafia |

Fill in the blanks in the following questions and write them in the answer book.

.- -1 5 5
(1) WMJ.T.E....WHW‘E 2
_ ¢ - : -1 5

[he eleventh term of Arithmetic Progression -3. PR
(1) cos- 60° .\lﬂ: 6 T 114 % |

I'he value of cos? 60" - sin® 60° is 3
(iii) R THFAF A (sS4 AR B 7

If the area of a circle is 154 em?, then its tadius is o~
(iv) afe o g 61 farwan 6 Aft @ Fand § w+ft 2, 01 39} ot S 2

If the radius of a cone is 6 gn and height is 8 cm. then its slant height is

Q
S\
N
NS
©

(v) 3T = 2m§@

3 Median = 2 Mean +
(vi) @i 3T 60 - 75 %1t g R

The class mark of the class interval 60 - 75 is

it e TR T T 6 A 1 30 3w Y

The probability of getting a number greater than 6 when a die is thrown, is
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3. faegmteTE v

Very Short Answer Type Questions :
() Wy =2 3aury - 223 A, A x 3k y 1 crgew wATE (9.8.9.) T
S |

If v =2"x3%and y = 2% x 32, then find the Least Common Multiple (L.C.M.)
of vandy. 1

(i) qEHRx* - 3 % Y 71 Hifvr |

Find the zeroes of the polynomial x2 - 3. i
(iii) S FHFO I +y = 4T x- y= 4B EH R |

Solve the pair of linear equations x + y = 14 and x - y = 4. I

(iv) P smpfa # 4t DE || BC ®), @t EC 1 7w 31 $ifv |

A

158/ (et
o/ e,

3 ot

B C
In the following figure, g@ || BC, then find the value of EC. 1

gz, A
>

Q
@Q\ 1.5¢cm lcm

@ D E

e

3cm

B C
(v) gt (-a, a) A (-a, -a) % e 1 g Ao |
Find the distance between the points (—a, a) and (-a. -a). 1

i) @mﬁﬁmwﬁm%ma,a@wmmm
Hifg |

The shadow of a vertical pole is equal to the height of the pole. then find the
angle of elevation of the sun. |
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(vii) TR T 5 e g & 100 Y 7 e R e g & v v 1 3=
B 60° B, T HAR EY e 73 |

If the angle of elevation of the top of a tower from a point at a distance of 100
metre from its foot is 60", then find the height of the tower.

(viii) T 1 B e 7 30f } 7 F W faia o 600 R | W f TR I
iR |

The radius of circle is 7 cm and the angle subtended at the centre is 60°. Find
the length of arc,

(ix) T O 1 @oqu gETa &aher 1014 3t fiex } | o7 Y e w7 hifv |

The total surface area of a cube is 1014 meter?. Find the side of the cube.

(x) 7% o & Mot o Tt aEhet g A |

Find the surface area of a sphere of radius 7 cm.

9YuE -«
™
Q
&6 SECTION - B
>

RIS N :

Short Answer Type Questions :

4. RrgoRmfs J5 & amfimEmn |

Prove that Jg is an irrational number.

5. WE9E 22 - x - 6 Y A A |

Find the zeroes of the polynomial 2x> — x — 6,
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1
a : o ‘ . . .
TN &7 3w 26 ¥ 3 uw g E@ﬂ?ﬂwlill b T S mrﬂm'ﬁ'ff‘” '

The difference of :
¢ of two numbers is 26 . |
> 18 <0 and on or is three times the other number,
then find the numbers. © number

\AD X DB-I :C K L
A -2|AE-I+EMI: =X lmp A

In the following figure, if DE

| BC, AD = - - -
then find the value of x. XDB=x-2 AE=x+2and EC=x -1,

B

8. aﬁﬁ%(x,s)aﬂt(s.7)%ﬂaﬁ(&swﬁﬁ,ﬁxwmmﬁrﬁq:

If the distance between the points (x, 3) and (5, 7).is'5 units, then find the value of x.

(3™ ]

9, UﬁtanA=l@,?ﬁ2sinAcq&%®ﬂqﬁmﬁﬁQl

Iftan A = 1, then find thqb ue of 2 sin A cos A. .
S
10 2 @it & 1, R damd 20 A A 4, AR R ¥ | IR Mt
& HIY 30° 1 H0 w771 Y, W AR Y a7 Ff | (T Het Yt w0 3 g1 gon &)

The tops of two pillars, whose heights are 20 m and 14 m, are connected by a wire, If
the wire makes an angle of 30° with the horizontal line, then find the lanoth of the
wire. (Wire is connected in straight line form 2

1. 2 wfa et farard 5 ot e 3 6 K | W gw R 3@ S o o w6
R R A

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the
larger circle which touches the smaller circle.
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o Freer o) et T 9 TS0 B i e R | 9 G R

Rreqgg o e 710 AT |

An arc of a circle of radius 21 cm subtends an angle of 6(° at the centre. Find the area

of the sector formed by the arc.

13, u e geia IEH H ST B ETEN 154 Woh2 R on g i 15 e 2, v O
et &et 1 HIfT |

The area of the base of a right circular cylinder is 154 cm? and its height is 15 cm, find

its curved surface area.

14. i ST 92 1A A Hii

} x 5 6 7 g 9 10

|
+

\f\8{612L7 5 (N6

1

Find the mean of the following f@ency distribution :
(R

\ x | s |6 | @] 8|9 | w0
{\\) :
\ f 8 | g@@ 12 7 | 5 6
15. T T % v g R R 8: Gowl v PR s s d
(4l (8] [c] D] (€] (]

=0 T ) T TR T A & | 36 791 wifehan & i (i) A W R (i) D TR 2
A child has a die whose six faces show the letters as given below :

(A1 (8] (<] [0 [E] [al

The die is thrown once. What is the probability of getting (i) A (ii) D ?
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el - vy W

Long Answer Type Questions :

16 103250 % 9 3 4 3 Ry vorer 5

How many multiples i
ples of 4 lie between |¢ and 250 2 3
HYFI/OR
0 3R Soﬁaiﬁaﬁﬁwﬁwﬁwﬁnm%
|
Find the sum of th
€ odd numbers between 0 and 50. 3

7 A G AB. 1), B(8, 2). (9, 4) 3k D - .
veh A (p. 3) T ®¥Im-
e l I & oY s Fa A @ p

If the points A(6. 1), B(8. 2). C(9. 4) and D(p, 3) are.the vertices of a parallelogram.

taken in order, find the value of p. 3
®C’il!limeR
mﬁg%ﬁ&wﬁmw%ﬁ@@ﬁ(-l. 7) 3R (4, -3)  firem T YEmEvs 2 ;3
% 39 i fonfire e & ®
. . N~
Find the coordinates @ﬁ: point which divides the line segment joining the points (-1, 7)
and (4, -3) in the ratio 2 : 3. 3

18, firg $ifre fs Pt ga % hora FHiaC-T9fS e g 2 |

Prove that the parallelogram circumscribing a circle is a rhombus. 3
AY4T/OR

Rrg e fs e & R W S - R Y T % e wHg
Hald e € |

Prove that opposite sides of quadrilateral circumscribing a circle subtend
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: —fmw-a:m :

9. ﬁqmmrm‘fjﬂr____r_f-%

;——-f 0-10 | 1020 20-301 30_49 | 40-50
l._‘————-——"_"—‘-'—-‘—-____-_“

]\,’/’4/ 28 42 20 6

L

Find the median of the following frequency distribution :

Class 0-10 | 10-20 | 20-30 | 30-40 | 40- 50

' Frequency | 4 28 42 20 6
AYFTI/OR

f R e WeA 1A 215 B, Tk 1 wm ma i |

T T s s | 25 |35 [ s
![fi6.14,3l|k2

If the mean of the following frequency distribution is 21.5, then find the value of k.

x| 5 | 15 | 25 | 35 | 4
fl6 | 43| k| 2

|
—

L

, N)
forereTes W S
Essay Type Questions :

20. T TE By ) e gk o A 7 FR IR 1R F PARF R, D o= D
g T AT |

The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is
13 cm, find the other two sides.

aqul/OR
ﬁmmgﬂ;mmmmﬁmm 365 E |

Find two consecutive positive integers, sum of whose squares is 365.
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15
21 mﬁmﬁ?(cosecﬁ-cot 8)? - 1;-{—:—0-5-2

l+cosg’
l-cos9

Prove that (cosec 8 — cot 8)° = _
1+cos®

HYET/OR

firg T 7 (cosec A - sin A) (sec A - ¢og A)(tan A + cot A) = |

Prove that (cosec A —sin A) (sec A — cos A)(tan A +cotA) = |

r_f%:i?ﬁﬂl?jEﬁﬁﬁﬂﬂﬂqFﬁﬂﬂﬁﬂﬁmdmﬁh

——

o ‘ 0-5 1 5-10 i| 10-15 | 15-20 | 2025 25_301'
i LGl :| R J 24 16 5 r
] l
Find the mean of the following distribution by considering assumed mean as 17.5 :
(Class | 0-5 | 5-10 | 10-15 | 15-20 2025 | 25-30 |
Frequency 3o T 15 @ 24 ;o6 s
/OR
Q
ﬁﬂ!mimﬂﬁﬁaﬂﬁﬁﬁak
| R - 1
-3 N3 -5 5-17 7-9 9
Ilwf 1-3 E\%@
WA | 7 8 2 2 1
Find the mode of the following frequency distribution:
| T T
' Class | 1-3 3-5 | 5-7 7-9 9-11_
Frequency |' 7 8 || 2 2 1
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